TR
Aero Slider
Part Number | MT-AC-MP-03-12-SLD-XXX-XXX
e \ EX
B ), N L
PL
Standard Material | A36 Low Carbon Steel
Standard Finish | 33 - Fine Texture Flat Gray JH
Available Finish(es) | 20-33
Hole Size | 1/2" Countersunk (12.70mm), 1/4” (6.35mm)
Recommended | 7/16"14 Thread Grade & Bolt, 1.5" Long | 7/16" SAE Zinc-Plated Washer | 7/16"-14 Thread, Grade 8 Hex Nut
Hardware | (M12x1.75 Thread, 40mm Long, Class 10.9 Bolt | M12, Class 10.9 Washer | M12x 1.75 Thread, Class 10.9 Nut) P A
Recommended Tools | Tool Kit 1 | 6 Hex Key Wrench Cluster
For More Info | www.ModTruss.com
Part # Size Weight secner HG
MIE-AC-MP-03-12-5LD-120-012 30" x 11.94" x 120.0% x 12,07 (76 vov x 203 2 wen » 308K 0 v A0 8wy
MT-AC-MP-03-12-5LD-120-024 3.0%x 11.54% x 120.0% x 24.07 (75 200w x 202 21w £ 3048t 1 609 S0mm)
MTE-AC-MP-03-12-5LD-120-038 3072 11.94% x 120.0% x 36.07 (750 x 20377 muw x 3K doevm 1 504 om)
MIT-AC-MP-03-12-5L0-120-048 3.0%x 194" x 120.0° x 48,0 (76 2o x 303 owen 2 30 v 1219 M)
MIE-AC-MP-03-12-5LD-108-012 30" x 11.94" x 108.0% x 12,07 (76 vov x 203 2 wen » 2743 Xiew 2 34 S0 M R
MT-AC-MP-03-12-5LD-108-024 3.0%x11.94% x 108.0% x 24.07 (7€ 2o x 2032w 1 2743 X 2 809 S0mm)
MT-AC-MP-03-12-5LD-108-038 3.0%x 11.94" x 108.0% x 36.0" (75 Mhovm x 2032 eew » 2743 Mooww » §14 40w}
MIT-AC-MP-03-12-5L0-108-04 3070 194" x 108.0° x 48,0 (76 20k x 303 men 2743 M £ 1219 M)
MIE-AC-MP-03-12-5LD-096-012 30" x 11.94" x 96.0" x 12.0" (76 Xvrve v 30227 oo x 38 Svr £ AN Ay
MT-AC-MP-03-12-5LD-096-024 3.0"x11.94% x 96.0" x 24.0° (75 Nvrven x 302 2 o x A38 Sler  £09 6dma)
MTE-AC-MP-03-12-5LD-096-03% 30" x 11.94" x 96.0" x 36.0" (75w v 30227 oo x 38 v £ 974 M)
MIT-AC-MP-03-12-5L0-096-04 3.0% 1 11.94" x 96.0° x 48,07 (76 0w v 3220w 38 kv £ 1208 M)
MIE-AC-MP-03-12-5LD-084-012 30" x 11.94" x B4.0" x 12.0" (76 Xvrv v 30221 oo x 2733 Serw £ AN Ay H W
MT-AC-MP-03-12-5LD-084-024 3.0"x11.54% x B4.0" x 24.0° (75 Nvrven x 302 2o 2133 Sl 509 6dmur)
MTE-AC-MP-03-12-5LD-084-03% 3.0%x 11.94" x B4.0" x 36.0° (76 vt x 302 2T oew & 2733 S0 £ 974 ey
MIT-AC-MP-03-12-5L0-084-043 3.0%x 194" x 840" x 48.0° (76 M\ v 302 2o 2132 8w £ 1208 M)
MIE-AC-MP-03-12-5LD-072-012 30" x 11.94% x 7207 x 12.0° (760w x 302 2 oo x 1228 Sovew # A0 Aoy
MT-AC-MP-03-12-5LD-072-024 3.0 x 11.94" x 720" x 24.0° (76 N x 302 21 oo x 1228 80 1 609, 6dmen) T K
MIE-AC-MP-03-12-5LD-072-038 30" x 11.94" x 720" x 360" (760w v 30227 com x 1228 80vw £ 974 dme)
MIT-AC-MP-03-12-5L0-072-048 3.0%x 194" x 72,07 x 48.0° (76 20w v 3220w x 1208 kv £ 1208 M)
MT-AC-MP-03-12-5LD-060-012 3.0%x 11.94% x 600" x 12.0° (P60 x 302 27 oo x 1524 Bowew » 3N v
MI-AC-MP-03-12-5L0-060-024 3.0% 1 11.94" x 60.0" x 24,07 (750w x 30221 owm x 1524 dhowew £ 609, 60 M H
MTE-AC-MP-03-12-5LD-060-038 30" x 11.94" x 60.0" x 360" (750w v 30227 oo x 1524 fdonew 1 514 &)
MIT-AC-MP-03-12-5L0-088-012 3070 194" X 88.0° x 12.0° (76 Xhevm v 0221w 1219 2w £ 30 Ay
MT-AC-MP-03-12-5LD-048-024 30" x 11.94" x 480" x 24.0" (76 Xvovm v 30221 oo x 1279 2w £ £04 6y
MI-AC-MP-03-12-5LD-036-012 3.0%x11.94% x36.0" x 12.0° (760w x 3022 o x 97 &l 2 3N Ay F H
al Mazard Muguc l,,gw 9 Sena mm‘@iuth'
LS. Patent No. 8 418,425 & other patents pending GI_




| AC Access
Product Number | MT-AC-MP-03-12-SLD-XXX-XXX

S

XXX-XXX-Q1SCL-€0-dW-OV-IW

SEra ees

43dNs Od3v

vrosnss | ELOLE/0I

W M Sy Svomae || @aaove

~
W60 R0F RN WA INOR DS

Zi St | ZI09t0 0% LI 00 dn-ovIN
¥Z 8| ¥Z0BYOQIS TR0 dW-OVIN
Z1 8| Z108r0015-2I00 dW-OVAW
5% 09| 950090 QIS ZIR0dW-OvIW
T 09| $Z0090-015-LI0-dW-OVAW
Z1 09| Z1009001-2I00-dW-OVIW
F ZL__ | #r02L0QIS-LI0 dWOVAN
5% ZL__|_9E0TLOQISTIR0dW-OVAN
5T ZL_ | ¥ZOTLOQI LIR0dW-OVAN
Zi ZL__| Z102L00-TI00-dWIVIW
& 58 | GrOvBO QIS ZL 80 dW-OVAN
9% ¥8__ | 9E0¥B0-0IS-TIR0dW-OVAN
¥ ¥8 | ¥ZOYBO QIS ZIR0dW-OVAN
Zi ¥8__| Z10¥80 0T8O dWIVIN
& 56 | er09600IS ZLR0dW-OVAN
5% 96| _9E0960015-TI0dW-IVIW
5T 96| 20960 QIS ZLE0dW-OVAW
Zi 96| 109600152100 dW-OVIW
8 | 801 | @r0B0L-QISZIE0dWOVAN
95| .80l | 960801-0CIE0dW-OVAN
¥ | .80l | $Z0B0IQISZIR0dW-OVAN
ZU | .80L_| ZI1080IQIZIt0-dW-ovIN
8| .00l | 80O0ZIQISZIE0dW-OVAN
96| 0L __| 9600LI01-LIR0dW-OVAN
¥2_ | .0ZL | ¥ZOOZIQISCIR0-dn-OvIN
ZIL_| 0t | ZI00ZIQ-CI0dW-OvAN
DN | A HEEWIN 18vd

B

ver 5 o0 6 6 @

TAIMS XYW , SF
1

[errvoE] |

508 _

) : .| [09822)
- . . | oos
2 . STt Tt v v v v v ¥ oo T
e N
e
_. . ”* "* ”“ —
T foeva
00€
i
: .. " o [1zece]
! . | weu
!
THOULS XYW LHONIT ANV
1]
— i. . ® v .+ o - o -
’

OV3IH ONTIAMSE

TIAMS DNIDOT
¥04 108 NOUNSL

3did ¢ HOS .5°L
304 ¥\ 14VAY Idid

HONSE M
(534S 30 T A 304
ARG 3¥VNOS BT

SON3 HIO8 'S30V4 TIVNO
FDVAANS ONINS MIVHN

LL.S. Patent No. 8,418 425 & ather patents pending



	Aero Slider Spec Sheet_ModTruss-1
	Aero Slider Spec Sheet_ModTruss-2

